LY —-A4VSOTRHER

Variable Displacement Piston Pump LY -A4VSO

#t i Overview

ZFme—NHRXMAEETRR, SHFAXCHBERIIEITAY,

KRB, BEENTEISMPa,

This product is an axial piston pump in swash plate design for hydrostatic
drives in open circuit operation. With through-shaft construction, its rated

pressure is up to 36MPa.

EHlE
—_ = Control
SRERI  — e e
Return Bound Bodies\  Indicator Piston  /
Eiem e
Case
|
. |
_.!" | 3t |
FH o ;
Shaft A / \
4 ._.-'Ir I".ll.
ko ) B/ BE s | | R i
Case gﬁeﬁh Slipper Piston glj,dir:cder Valve Plate Back Cover
2 QL
5 2 Features
*ROAREL FROSENAR, BFEOHE ﬁfTh: e TR Sbe pum.s o propsitin a;; s rotating jce R
- ] an isplacement; the stepless ustment of the
BAMRGTHRNEZEET; displacemsant can be materialized by regulating the swivel
MEMESY, TEEHEASR; angle of its swash plate.
KBS REEHA; 3 With through-shaft structure, able to form combination
HREER, HEZEESTHREAGE; m:‘”"["t':; —— 2
= osition constraint return mechanism;
XEEAAERMHETE; 3 Spherical flow distribution, the piston is inclined around the
HXEBTR; shaft;
HERMNBANIESE; ¥ Equipped with swivel angle indicator of swash plate;
W §E TEE A iE35MPa: % Stepless variable displacement;
356329 5 0 B B i) g # Excellent suction parformance;
_ #* Rated working pressure of 35MPa;
WAEWRA 3 Fast control response;
XKES; % Low noise;
XERMIIE/ERLE; ¥Long lifespan;
sEEERAE g ; 3% Excellent power/weight ratio
HEPNEERZHRRENRE; *Modular design;
o e LT ¥ The drive shaft is able to bear the axial and radial load,

¥ AHFRETLE, BAEfTS8FMMER,

# Optional installation position;
%It can operate with HF fluid to lewer the cperating parameter.




B S#51R Type Code

LY- EA4VS O 125 DR / 30 R - P P B 25 U 34
INP%2 3] 4 | 5 G E 8 o7 Pt I e (T

1-T4E4t & Operating Medium

7 ¥ Mineral oil { £4$= No Code )
HFA. HFB, HFCH&HEhi# Hydraulic fluid E

2 &858, Machinery Type

HEHEE, #1855, 795l Axial piston, swash plats design, variable A4V
3-## Speed

EiH %5 Nomol speed S

¥ High Speed L

4-i557853K, Operational Mode

. ElE& Open circuit 0O
5-Hi&Size

4> HEMk Nominal displacement mL/r 40 | 71 |125|180|200|250|280|355
6-#4l4#L# Control devices

EEA1#E8 Pressure control DR "'EE AR AR A R R BE | DR

e ki2E Flow control FR A AE BE BE R R RK FR

i 4= %l Pressure and flow control DFR "EE AR B AR AR BE BK | DFR

1E1h 2 &) Power control with hyperbolic curve LR2 "I R BE AR R R RK LR2

{8 oh 3 i ¥5 5 745 Constant power remote pressurecontrol LR2G | @ | @ (@ (@ (@ ([ ® (@ | @ LR2G

1851 2 & }1#2 %] Constant power pressure control LR2D e|o | eo|o|eo| 0o |e|e| LR2D

= h#%) Manual control MA e| o o 0o|eo 0o 0o MA

7 i 32 ) Hydraulic flow control O|l0o|e|e| e | e |e|e E02
7-#7% Series

SR — R = L S e — 10
— |- ®o|®o|0o | 0|0 |® 30

8-S ( MM ) Rotating Direction ( View on Shaft End )

NiiET £t Clockwise R

i pt§t Counterclockwise L
9-##} Seals

THIRBEINBR, HiEiME: Shaft seal FKM =

AR FKM Vv
10-#hih Shaft End

@ iE{H Keyed shaft DING885 =]

1 ihih Splined shaft DIN54B0 zZ

M= iEA Chart shows: @=TTEl{t# Available, O=7E#:#& Tin preparation, —=7Not available




11-%3 7% =Mounting Flange

ISO 4FHole B
12,13-j O &3 Ports Type

B Suction port S, EHilC Pressure port B, ¥l Awdliary port B 13

@i O Suction port S, FE 110 Pressure port B, o5

&m0 The second pressure port B

14 - $H3E 3 Through Drive

40 | 71 |125 [180 | 200 |250 |300 |355
7c il $15E 2h Without through drive o oo |0o|0 o 0| @ |0
BN, NRERRTOT o | o | —frelomlee T )
With through drive, mounting dimensions are as follows

EAIEREY, MREZERTAOT : - |-|eo|o|eo|o|e|e]| U
Universal through drive, mounting dimensions are as follows

E= Fid- bk AIEESER MR

Flange Splined shaft To mount pump

ISO125, 47 | W32x2x30x14x9g -A4VS040 CHN BE NN BN N N N -
ISO140, 47. | W40x2x30x18x8g 0S-A4VSOT1 -~ | ®o|®|®|® | ® | ®|®]| 33
ISO160, 47. | W50x2x30x24x8g 0S-A4VS0O125 —|-|®e|®e|®|® | @ ®| 34
ISO160, 4FL | W50x2x30x24x9g 0S5-A4VS0180/200 - |—|®|®|® | ®|@®| 34
150224, 47 | W60x2x30x28x9g 0S-A4VS0250/280 —|=-|=-|-|-|®|®|®]| 35
1S0224, 4F. | W70x3x30x22x9g 0S-A4VS0355 - =] =] =] =|=|=|® | 77
ISC80, 27l 3/4in11T16/32DP S#4 0S-A10VS018 ® | ®|C|OC|]O|OC|O|O| B2
ISO100, 27 | 7/8in13T16/32DP S 0S-A10VS028 | o|o ®o|e o|® o | B3
ISO100, 2% | 1in15T16/32DP S$ OS-A10VS045 ® oo |9 | o ® @ | B4
ISO125, 27 | 11/4in14T12/24DP S%8i | OS-A10VS071/31 - | ®oe|®|®|®|®|® | ®| BS5
I1SO125, 27 | 11/2in17T12/24DP S | OS-A10VS0100/31 - |-|®|®|®|®|®|®| B8
ISO180, 4#. | 13/4in13T8/16DP S% 0OS-A10VS0140 - |-|—-|®|®|®|®|® | B7
ISO160, 47L | 11/4in14T12/24DP S& | OS-A10VS071/32 —|lo|lo|o|o|lo|Oo|O| BS
ISO180, 47. | 11/2in17T12/24DP S$ | OS-A10VS0100/32 -|=]O|OC|O|OC|O|O| B8
SAEB2, 27l 3/4in11T16/32DP Si 0S-A10VS0O18 ® | ®|O0|O0O|O|C|O|0O| 52
SAE101, 27L | 7/8in13T16/32DP S## 0S-A10V028 ® o|® o | o | o | e e | 68
SAE101, 2FL | 1in15T16/32DP S&h 0S-A10V045 e oo | eo|0o| e e @ 04
SAE127, 27 | 11/4in14T12/24DP Si | OS-A10VO71 —|®o|®e | ®o|eo|®| e @ 07
SAE127, 27 | 11/2in17T12/24DP S% | OS-A10V0100 -|—-|®|®|® | ® | ®|®| 24
SAE152, 47, | 1 3/4in13T8/16DP S& | OS-A10VO140 —|=-|—-|®|® | ® | ®|®]| 17
ﬁﬁfﬁﬂﬂﬁﬁ;ﬁ fuﬁfﬂt ninﬁﬁhﬁrﬁgmsed with blind flange. o R e ol B B

MaRERER, MUNMERER &, FAEAR, RRNE_AREAINE,

MRITMESTH,; S5FNESAT—ARENES+ - aRPBE,

Two pumps can be connectec in series by their heac and end, namely integrated to be a combination pump by the means
of through—shaft, and the second pump of the series combination is called the subordinate pump.

In case of placing an order, the combination pump model equals to the modsl of the first pump + the modsl of the second.
HEFEB=T76 llustrat on of combination pump model:CR-A4VS0125DR/30R-PPB13U34+CR-A4VS0125DR/30R-PPB13N0C0




¥ AS$ W Technical Data

1. T{EFE 35 ERange of operating pressure——if O Side of inlet
WA OSKES ( #x3ES ) Pressure at suction port S ( absolute pressure )

!Mj}p“h ............................................................................ 0.8bar
iﬁﬁj]p-m ............................................................................ 30bar

1'_35 ~ RN &_ﬂa
T. 1.1 \ \“‘m 14 3
, L
E 0.9 | 0.8 %

05 06 0.7 0.8 0.9 1.0
V.
Hefl _‘u'j _ —

HE DR A SR E 7 208 R R R B shak (i,

Inlet pressure is static input pressure or minimum dynamic value of boost pressure.

2. I{EEAHIER Range of operating pressure—H O Side of outlet
BO A (#%3 & /1) Pressure at port B (absolute pressure)

m;ﬁﬁ, ............................................................................ 350 bar
Mﬂpﬂn ...................................................................... 400 bar
!‘EE?]M ............................................................................ 15 bar

3. FEahJ5 e Flowing Direction
S—B

4, Eafkitil B #1 Case Drain Pressure

BAAVREERBMEN(AWNES ) NRTFROEE, LE: ﬁ %
The allowed maximum case drain pressure (absolute \ ﬁ 8= 9

\GINK I INFRITA

pressure) depends on the rotating speed of the pump. f 4 W '
Please sae the figure. \\\\\

g E
Bk B MR h (3R ): a
The maximum case drain pressure (absolute pressure): g
PlLmax 4 bar ] .

©

1= |
XERCE, ERETR FTREREN, "o 1000 2000 3000 4000
This is approximate value. This value needs to be decreased HdEn[min'] —=

under some operating conditions.




5. #83& ( Bi{E ) The Parameter List (theoretical values)

Hf& Size 40 i 125 180 200 250 280 355
#EMDisplacement Vomex | mL/r 40 71 125 | 180 | 200 250 280 | 355
V= Vgmaxflif Nomax | F/Min 2600 2200 | 1800 | 1800 | 1800 1500 1500 | 1500
BAHE" Max. Speed
Vo< VgmexBT r/min 3200 2700 | 2200 | 2100 | 2100 1800 1800 | 1700
N =N o mexBt qromax | L/MiN 104 156 225 324 360 375 420 533
it Flow
n = 1500 r/minif L/min 60 107 186 270 420 375 504 533
Th# Power N =N maxft Po max kW 61 91 131 189 210 219 245 311
Al n = 1500 r/min B KW 35 62 | 109 | 158 | 245 | 219 | 294 | 311
#4145 Torque A p=350 bar iy T max Nm 223 385 696 | 1002 | 1114 1391 1560 | 1976
V= Vomu Ap=100barB | T | Nm | e4 | 113 | 190 | 286 | 318 | 398 | 445 | 564
WA LRI J | kgm? | 0.0049 | 0.0121 | 0.03 | 0.055 | 0.055 | 0.0959 |0.0959 | 0.19
FE{k B #Volume of case L. 2 2.5 5 4 4 10 10 8
E &/ Weight kg 39 53 88 102 102 184 184 207
Wkl E RV Eﬁi‘ﬂﬁnm N 600 | 800 | 1000 | 1400 | 1400 | 1800 | 1800 | 2000
Permissibleload of EJ'C-& e
the drive shaft TEor e o N 1000 | 1200 | 1600 | 2000 | 2000 | 2000 | 2000 | 2200
1) Vo= VemaB FOBUEE M TR OSAB ORI ES1 barkfpoMR, L OFEpsEinstHE R0,
MFGERIRM, Vo= Vomedf BIBHE A ITIRMBR
1) Once Ve=Vgmex, the value is applicable forthe condition in which inlet pressure at Suction Port S equalsto 1 bar, the
absolute pressure; when the inlet pressure ps increases or the displacement decreases, the rotating speed will
increase; once Vj < Vgmax, the value amountsto the limit of the rotating speed.
Ha A% Y %k Bearing flushing
WHFAAVSOR MR EZETRR, £ ITRHAM WMApME, BdSETERFEE=REDO
R IR K TR S ThaE. “U” H1T. MMM, HHNRMGTE

—RARENTEnE (ET%MHm) , BTHR
HRAEAEEMRRER TERERE;
—YRAT o TEERREEMREXEE
TR R AET LN R L)
HRERMRDE, DMEFHRIHEAIOHEAFTE
BrhiaE,

For the axial piston variable pump A4VSO at the
following operating conditions bearing flushing is
required for a safe, continuons operation.
——Applications with special fluids {(non mineral
oils)due to limited lubricity and narrow operating
temperature range.

——{Operation at critical conditions of temperature and
viscosity with mineral oil and vertical mounting ( drive
shaft facing upwards).

Flushingis recommended in order to ensure lubrication
of the front bearing and shaft seal.

A it i e — A2 AL it ek T HEH o
M FI0RFERERE, LR AULETHR M,
UORPRRT LT RBAETHR).

Flushing is carried out via port "U® located in the front
bearing and leaves the pump together with the case

drain flow.

Regarding series 30 when using external bearing
flushing the throttle screw atport U must be turnedin
to the end stop.

HMIERYER B BRI E % ( L/min):
Depending on pump size, the following flushing

flows are recommended:
HikE Size | 40 | 71 | 125 [180/200|250/280| 355
#BFlow | 3| 4| 5 7 10 15

R TIRBI L ERRE, MORMFTEMHO B

53 7 IR +5 22bar.

These recommended flushing flows will cause a pressure
dropof approx. 2bar (series 10) and 3 bar (series 30 )
between the entrance to port U and the pump case




154 #Hh £ Characteristic curves

B|\IhE 5t & Drive power and flow
1840
* 150 75
= e
£
3 100
-
E =
- 5{]
r‘_':j- = ‘ﬁ
Vo IR i | e g e N
Y s e B A 0
0 100 200 300 350
T {EE N plbar] —

N=2600 rpM e N=1500TPM —

HFE125

* 300 150
f o
E‘ ¥
E o l )
E EDD q?‘:f 1 ] {é‘u 1{:“:'
S T ﬁﬂ, -
H ] o ma |
52 S
~ 100 b : 50
Ii"" - B |
o ‘; “ pl-'h. 00 l
A ] T I D I I o
A T rihmmmmily
0 100 200 300 350

T{EEN plbar] -
n=1800 rpM — N=1500 rpM —

HH&250
* 500 250
= WV
: ¢
£ 400 _ —A— 200
- m |
o ! |
= qv ] || /
= 300 I /£ 1 150
- T e L
o - H;f :
Fi -"'?' |
200 7T 100
1A 4 I
| .-'l . '
A aas
100 A ——H 50
F4 pr P-:.-r |
;ﬁ.—*l HEPZ, | | |
i
0 100 200 300 35
T1EE D plbar] o
n=1500 rpm n=1000"rpmM — —

—

W NIHEPKW]

— -

5 NIhEPIKWI

—

il NI EPKW]

!

g g, [L/min)

n=2200 rpm ——

n=1800 rpm

=0 ——— 150 f
qv .l |
HL 5
100 ==bomtod oo 2
P e i ol
I -E—
| LT L E
| -t"# ‘-'i!_,
E [ Tﬁ"’ i:’:rji"'#‘ iP-“n- L | EE
¥ | S
Gﬁ.— = _____._.._%.-._ 0
0 100 200 300 350
TH#EA ploar].  —

n=1500 rom — —

|

™,
]
=
]
_..,.

o
=
S
W A ThZEPKW]

s
b
Y
N
=

r |
s /i" . e o T e B S S
Fa | | av 2o |
'y }
L 1A=k
0 1 | 0

0 100 200 300 350
TEE N plbar] —
n=1500.rpm.__

700 | 350
I :
600 | - ;‘/‘{f 300 *
Y [ / =
H ] | E
500 - 260 &
> £ =
= 9 P T 5
| | 7 %
400 Pav man 7 200
PN O
= = ] Y N | 3
300 T f/{ i 150
Y (| /
rr -"'J
200 f BEEE 100
—1 ’1“" |
1{]':' n IL1|( 4 P-.'|-.-.'-r-:'|:- ED
mrav Al
?Z‘{ ANEE = ==
n I“ | e (e . e T Ll [l ) D
0 100 200 300 350
TAEEN plbar] —w=
n=1500 rpm n=1000 rpm __ __




WERST #lik40, 1085 ( BrhrpmERVAREAES )
Dimension Size 40, Series 10 ( Example: pressure control )

L
g X
AS10x8x 56
DIN 6885

150

Y N B+ £+ Eh e

 RSEBER R
~
b X[t
-
W32 x 2% 30 x 14 x 9g m mi:
DIN 5480 ch ek H ‘osRMEmEERD) ¢

69.9

. S
SAE 1 1/2"HREE N RS

|

\ = L
}_KH 4‘ | : h
| \ | '
EEL_m L. T T |
selltale ]
—_—— T?—Pr I E :
\.U. == = il 8 ]_j _N ;
_.3.0,| m [-‘!;'% WHEEDN  \10.517

80
(258Y)

7N M12; 20

ml—‘ﬂ I;jx

/.,
2@

~. B(B: X268, EREER
SAE3/MA T [E R 5

e

6 ot _|25 ’ AEHRENE ——— 238
Y
#1320 Ports type 13
B B 1 0 pressure port SAE3/4” (% ER %) high pressure series)
Bi $#iBhid O auxliary port M22 x 1.6 #Rdepth14 (3% plugged)
#2584 Ports type 25
B £ 778 O pressure port SAE3/4" (BERZ high pressure series )
Bi & —F 13 O second pressure port SAE3/4" (MEEH> high pressure series) (¥ closed)
Hfkik[O Otherports
S W i 1 suction port SAE1 1/2" (#x#E#% standard series)
Ki,K2 M E flushing port M22 x 1.5 #Rdepth14 ( #plugged)
T ittt id1 1 drain port M22 x 1.5 & depth14 ( ¥plugged )
Me,Ms i 2 measuring port M14x1.5 # depth12 ( #¥plugged )
R(L) 30 filling port + #E4{M bleed port M22x1.5
U  shik¥DO flushing port M14x1.5 3 depth12 ( 3 plugged )




SMERST Mik71, 1085 ( AhRAGEHIAREAEHR )
Dimension Size 71, Series 10 ( Example: pressure control )

i
T —
| AS12x8x68
~| DIN 6885
= \ B
\x i
Bl e
) ][_-.—._
I. EI__JE@_ ¥
SiE 0
E! = ﬁ?D - =
]
1
N\ Ms_
8
.80
I 295 -
Y  MAE e
* /.?E..%%ﬂﬁﬁfi?i{_ .
.-"fl.-.
Tt B . LW
W40 x 2 % 30 x 18 x 9g B : — S 25EIMEmEEED)
DIN 5480 i . ] -/
"-.L1II = ; \E _[/-L s
. - il | ol SAE 2454 h R 51
‘%"_ ‘xH : - | f\— S| 9 M12; 20
e o s
o —r—r— By “\\ | Ll
TS HEET t%’ﬁ*'*—o = B 429 ]
KRl 28 \ ~ @ N H_[ = -
& o J = SR — o :
l . ! (L) 4 —_—
| f i |[1L_
= T WL
o H\fﬂg%ﬁii&ﬂﬁl | ]
& 66 |l + R GRERAE M12:§20 / -
: .
M O13& Ports type 13
B F 7738 0 pressure port SAE1” (EE®R% high pressure series)
Bi  $EBbi O auxiliary port M27 x 2 ZRdepth16 (3 plugged)
O258 Ports type 25
B &7 0 pressure port SAE1" (RE®R% high pressure series)
Bi S8 _H 1k O second pressure port SAE1" (RERF high pressure series) (33 closed)
Hfltih O Other ports
S W% it [ suction port SAE2"” (#r#ERE5 standard series)
Ki,Kz2  Hkis O flushing port M27 x 2 PRdepth16 ( #plugged)
iF jft it O drain port M27 x 2 PR depth16 ( H#plugged )
Ms,Ms Fi# A measuring port M14 x 1.5 2R depth12 ( #&plugged )
R(L) #MO filing port + #E* O bleed port M27 x 2
U  #i%# 0 flushing port M14 x 1.5 iR depth12 ( 3# plugged )




SMERST Mi125, 30R5 ( ArhRANEFSREEAES )
Dimension Size 125, Series 30 ( Example: pressure control )

Tt
AS14 x9x80
DIN 6885

1.5, \_80

191

121
M1 . .hl-l
lef |
TG':I

y MEEEEH
+ / ot o B 2 g v i

;’;
T p - —
W50 x 2 x 30 x 24 x 9 o 4 1 25REm2
DIN 5413[1\ | LI @SEEEO)
\ & ' D
\ ol SAE 2 /2"t AR h 75
\ =8 M12; 3§17
5 1
gl 4
Eﬁrm“" - ]—--
[ E EE ¢ ; E Lq
— 54 o
1 Y

B(B: X268, ETE Wk
SAE1 1 4"BERS

- 203 ol v
355

i 0138 Portstype 13
B B ik O pressure port SAE1 1/4" (=& R % high pressure series)
B1  $#Bb#h O auxiliary port M33x 2 #depth18 (¥ plugged)
i 258! Ports type 25
B E71# X pressure port SAE11/4" (B E®%| highpressure series)
Bi £ —FEAilN second pressure port SAE11/4” (MERZ highpressure series) (8 closed)
HftihO Otherports
5 W% O suction port SAE2 1/2" (=¥ # % standard series)
Ki, K2 #hiE O flushing port M33 x 2 #Rdepth18 ( 3#plugged)
T ittt 38 O drain port M33x2 R depthi18 ( #plugged)
Me,Ms A measuring port M14 x1.5 B depthi12 ( #plugged)
R(L) kO filling port + #E4{ O bleed port M33 x 2
U Mgt O flushing port M14x 1.6 IR depth12 ( # plugged )
MiMe FERPLH A3 A measuring port control device M14 x 1.5 ( 5§ plugged )




SMERST #i8180/200, 30R%H ( BhrANEHNAREAES )
Dimension Size 180/200, Series 30 ( Example: pressure control )

]
22
LY —
AS14 x 9= 80
DIN 6885 @
5| 1.5\ 80 o
= \
llllll'-.
-
S T
125 1)
- 36 o|
! |
1
MB
8
10 |
8 .|
v Wi Bt % =h B

* JiE SREEME
rd
7

i

Tk /B,

DIN 5480, e e, o S E BB D)

DIN 548
i L]

106.4

X e
| e '
& of | - Y15
S| |22

112
i
]
N
[
{?{
J 8,

| ] 3| 5 O swaizon, mrzam
| . SAET 1/4° % & A3
II"'.__U | == ; == I L‘!'h‘h._ 1

33 N BT SRR M14;3

i sl Tlaa + N ESREERR 318

| 203 % v
#MO138! Portstype 13
B B 7738 0 pressure port SAE11/4" (B E®R% high pressure series)
B #Ehih O awxiliary port M33x2 #Rdepth18 (3 plugged)
B 0258 Ports type 25
B EF1#E pressure port SAE11/4™ (BERS high pressure series)
B & — K710 second pressure port SAE11/4" (&E®% high pressure series) (& closed)
Hittih O Other ports
S IR ith [ suction port SAE3" (¥r/ER% standard series)
Ki,Kz  Fhifkis O flushing port M33 x 2 JRdepth18 ( Hplugged)
T ittt il I drain port M33x2 PRdepth18 ( Hplugged)
Ms,Ms 3% A measuring port M14x 1.5 3R depth12 ( #plugged )
R(L) MO filling port + #E5 [ bleed port M33x 2
U FgEM DO flushing port M14 x 1.5 # depth12 ( 3& plugged )
Mi,Mz ZFERHLAS B934, A% measuring port control device M14 x 1.5 ( ¥ plugged )




MR Mik250/280, 30R3 ( AR RAMESHARENIES )
Dimension Size 250/280, Series 30 ( Example: pressure control )

I ” (424) .
30 1 T
Fi E }
© AS18x 11 x 100 =
| DIN 6885
1 i
35\ 1004
K.
I ud
i — L0}
Lot
B, =1
2 " W .
: ' &
| ) |
l,. H
I'Q'.‘:'-----._ S VR T [ | §| S
8 | P 265 g
10 150 | K
| 380 1
105 || 435
Y e ahed
+ ESHRENR
1t oy
e R =t =/ smmEsEERD)
\ oY J-_h ' S R
et i SAE I HAEE N &S
"'. =]
‘g; \ 3|0 - M16; 24
a1 ! e
g 2| ' :
=| ==, - ™ 1
I rm\"—I_j.q__"Ej el - 3 _ g ——1 61.9
ER = 2
< A42] . 5 1
ol ‘ L0 =
| T | B(B: %258, BRELEIR
1 RS - — SAE1 1/2"WIE RS
Tg et N\
\ U
S LT

248 17| ] |17 + NEGBEERR

Y
i 0138 Portstype 13
B B ik O pressure port SAE1 1/2" (B E® high pressure series)
Bi  HABh M awdiiary port M42 x 2 PRdepth20 (¥ plugged)
i 258! Ports type 25
B &7 K pressure port SAE11/2” (BMERS high pressure series)
Bi & — FEh1ik O second pressure port SAE11/2"” (MER% high pressure series) (¥ closed)
HftihO Otherports
5 W38 [ suction port SAE3" (%% standard series)
Ki,Kz #hEih O flushing port M42 x 2 #Rdepth20 ( #plugged)
T it i [ drain port M42 x 2 Bf depth20 ( ¥plugged)
Me,Ms i measuring port M14 x 1.5 B depth12 ( #plugged )
R(L) kO filling port + #E4{ O bleed port M42x 2
U Mk flushing port M14 x 1.6 R depth12 ( 5 plugged )
MiMe FERPLH A3 A measuring port control device M18 x 1.5 ( 5§ plugged )




SMERST Mie355, 30R3 ( B RANEFEAREEDER )

Dimension Size 355, Series 30 ( Example: pressure control )

i o0
o| AS20x 12100
3| DIN 6885
4.2 ll".lﬂ_f!._
s =
Ssﬁ —r
2 42
8l
M4
105 |
., 115
WA B 1 4% = B
Y ESARRGE
g X1t
5 B:
b T W A P O [ SRS BEERD) i @
DIN 5480 zS = gl 8 H—i 5
—1 | | = vl SAE HRER N A
\ R | @ = = o oy .
\ . N e & B mie: g
| otz f ;f-'"“a | 71.8
T8 S T X Q| T,
o 7 M B Zan NI (i) s
: | NS 11 o2 HEL R -
—\ RIL) M, ﬁ E
' i = B(B:%258!, BIFLEHR
M\ | ki SAET B ES]
62 N \ S8 0 4% 5 B
92 40 \ e S B 4 LSE 5
] 248 17 17 + A e
Y
#MO138! Portstype 13
B B 7738 0 pressure port SAE11/2" (B E®R% high pressure series)
B #iBhit O auxiliary port M42 x 2 #depth20 (3 plugged)
B 258 Ports type 25
B EF1#E pressure port SAE11/2" (BERS high pressure series)
B £ __HE 71 O second pressure port SAE11/2" (®E®R% high pressure series) (& closed)
Hittih O Other ports
S IR ith [ suction port SAE4" (¥rMERF standard series)
Ki, Kz Mkl O flushing port M42 x 2 #depth20 ( #plugged )
3 it i (1 drain port M42x2 2 depth20 ( ¥plugged)
Ms,Ms 3% A measuring port M14x1.5 3R depth12 ( #plugged )
R(L) MmO filing port + #ES M bleed port M42 x 2
U Mgt O flushing port M18 x 1.5 i depth12 ( 3% plugged )
Mi,Mz FERALH A & measuring port control device M18 x 1.5 ( 3% plugged )




=3 ¥ Control Devices

1. EH¥EHEDR Pressure Control DR

EHESGRFENRHENEEGEM, Hit, RRABMHATIHFRORR.

@ ez E20~350bar, Wik: HERREAHEHDRG

Pressure control keeps the pressure constant within the control range of the pump at the
pump outlet. There fore, the pump only delivers as much fiuid as required by the actuators.
Setting range 20 ~ 350bar.

Optional: with remote pressure control DRG

N e N

= ' T J 2 = =
S Ms KiKz T R(L) S Ms KiK: T R(L)

DR JZIE A Schematic DRG [RE B Schematic

B0 Ports
XsEREAMA, ATERE HEH Pilot pressure port, for remote pressure control M 14 x 1.5 3§12

2, #EEHIFR Flow Control FR

R LR RS AN At eRRIERE,

wli%: FiEEEAESIFRG,

FR1ZFRG1E X DM RS A,

Pump flow may be requlated by means of a differential pressure at an orifice and maintains a constant
regulating flow in a hydraulic system.

Optional: with remote pressure control FRG

For model FR1 or FRG1 the orifice closed in the X port

FEFEEfREERN FRIBZANRAESHE FF-EEE_IWEH FRG1EZ T B
B | . e [ KL
g | i at
B: B M 5 L PexTs || —
BT e : ; .
e +
y e s
| 1
. _ Wl
i? l _____________ ol |
S Ms KiK:T R(L)
FR R ESchematic FRG EHE M Schematic
0 Ports

Xi £BEAMO, BTFikRi2H Pilot pressure port, for flow control M 14x1.5 312
Xe £SEHMO, BFiEEESES Pilot pressure port, forremote pressure control M14x1.5 & 12

B Diagram components

1. OS-A4VSOH BB R (v EHERE T Hlg)Axial piston pump (with hydraulic positioning device)
2. B #H | Pressure control valve
3. 32 H M Flow controly valve




2513 ¥ Control Devices

3. Eh5xkEE$IDFR Pressure and Flow Control DFR

EAREANTIRT, ARERSUARKEEE, EHEIRTTRERES
DFR1ESCAIXiH O A REFLEE A
This control maintains a constant flow from the pump even under varying oprerating

conditions. Overriding this control is a mechanically adjustable pressure control.

Optional: For model DFR1 the orifice closed in the X port - P
AEFEEHREEN DFR1E2XX TR EHA
,I.._ 3!
X
.. —
\k | 3'-\‘ |*I§Err.,..i ‘
b i
v — 5
| yLfd I'. B
H 2 e ‘-1‘ I I-‘Er . ‘
BHT B FJ!E | : |
it I = : i
S i |
-fh"-r: || I 4
P Saaaailhi
' \ )
N
i '
| 7 ,
;SO o — 32
S Ms Ki K2 T R(L)
DFR [R¥ ESchematic
i Ports
X £SEAMmO, BF#EEHPilotpressure port, forflow control M14 x 1.5%12
EdT# Diagram components
1. OS-A4VSOBHmHER ( B EHIHRETHHMA ) Axal piston pump ( with hydraulic positioning device )
2. EHEBIN Pressure control valve
3. =5 Flow control vave
4. ThEZFILR2 Pressure Control LR2
WHKTIEDS, RERNRRATH, REFNEITHRITENIEEE,
A[%: HEAEFILR2D, WiEREEMLR2G
The hyperbolic power conirol maintains a constant preset drive power at the
~ P

same input speed.
Optional: with pressure control LR2D, with remote pressure control LR2G

5. Dh#EIEHILR3 Pressure Control Lr3

WHLRTHEZE, BERNTEAEN, RIGRNEIDEIFENEEMR,
RI)RGERETERETEY.

Alik: WEHEFLR3D, HEREHEHLR3G

The hyperbolic power control maintains a constant preset drive power at the
same input speed. The power characteristics can be adjusted remotely.
Optional: with pressure conirel LR3D, with remote pressure control LR3G




&% ¥ Control Devices

'm,-.* « Ry ! T .,JHHW
. e b ) B, ORI | b Xyn
e f 2
B*: B 'ril-] E;; B f':"tn
l : - - bt [ : !
" : ,-:E_f w0 3 $ ==
‘. il . * .....
= E g d -
/I_ —y - |‘Jj|| 1" J ,':.',".: .,’-rl _]| }.‘f
f i /{
hz@; { U § *:,:Q);‘? 1
P T T p— : - .
[ I'. :
P = . ! . s,
= & & E Ll . & M # x = L "
U S Ms M: Ki K2TR(L) M: U S Ms M: Ki K2 TR(L) M:
LR2 /R A Schematic LR3 RIE B Schematic

O Ports
Rixv #5284 i SMEB B O External control oil retum port M18x1.5, BR12
XwEREHMO, FATFiERohEES Pilot pressure port, for rem ote power control M14x1.5 #§12

E g c# Diagram components

1.0S-A4VSOHY i (54 5 78 (34 i R HE MR TS #1i) Axial piston pump (with hydraulic positioning device)
2. hE# %) i Power controlvalve

+++D #5142 $I With Pressure Control -G WIZRE EEFIWith Remote Pressure Control

ENERTFohEES, B): FEEENEZ FTHERIEZ EHRSREEZMOXe, AFEEEH. YSAHGEEN
BETE, SRBENZEGN LNREEAN, REAEANE (EARGIELMEEEAMEND SRR LOEE ) B, Rit
P&, (VEESERFRENREABEHE, ABREDERERN, URASFREDAEOBRERB.

The pressure control overrides the power control, i.e. below  Pressure rellef valve is connected to port Xo, for remote
the set pressure conirol level the unit follwes the power control. As soon asthe pump output pressure(relief valve
control function. As soon as the pump output pressure setting plus pressure differential overthe pressure control
reaches the pressure control level, the pump turns into the valve spool) reaches the pressure control level, the pump
pressure control model and delivers only the amount offluid tums into the pressure control model and delivers only the

as requlred to maintain this pressure, amount of fluid as required to maintain this pressure.
= i - i
2 = it ol WA O L O e L | 2=
el ¥ o 2 = oot '4.:+‘.| - |
i '__ T ; 5 WP E‘H ‘ y W - -l:fi E g ! I| e
[ ' - - - e ol e o |
E : l"“': : i ‘ pl: . 4
B:r BM - § P s ! R
0 e i §-ee . : . Q.EMH i : _;_.‘,E|
Al -4 - : -
. — 3 —r— e : \
R RO . gedeis - 2 3
: ‘ : i .' ............ o - - - ;.‘ -
— —Hie= [
S el ==Y
! 7
__________________ ; w4 R
| Ll L HE
A . 3 B L Y y r I {55,
= I = x . x * = x = ¥ N X | X
US Ms M: Ki K2 T R{L) M= U S Ms M: Ki KaTR(L) M:
LR2D JRE @ESchematic LR2G [R¥EMESchematic

MO Ports

Xo £BEHO, B FiEfREHie# Pilot pressure port, for remot e pressure control M14x 1.5, 212
Est# Diagram components

1.08-A4VSOZ il () #F 22 3R (35 7k [E HE A 5 H1#40) Axial piston pum p (with hydraulic positioning device)
2. TS5 i Power control valve

3. B 7135 Pressure control valve

4. EHRGIE ( AEEECHIEE 2N ) Pressure reliefl valve (noti in scope of supply)




2513 ® Control Devices

6. HERBEHEO2

EHE T HEMRRARRRILOIN, ETHRNERET,

RiEH A . b | S 2
' B[R TEla (4T
lLalbh X
LI -
il i 3 A '
TATE B
] . *-|x
B, B Mg I R e Se
B 1.7 e o i = e &
I -..‘ ‘ I—I.
| [ ﬂll"""l il :'-i 5 ' JLE
. i :-:--.l'i T | u
/ r'TLJ S .y
At SO 3
SRR il
f,f R e ' 15“11
L% i l' ! Y83 :

i o

|
3

| |
1

= ¥ o 4 H &
US McM;RsR;R;K; K5 T R(L) RzsR3R; M,

Ehit#E Diagram components

1.AAVSOZVE M ER
(GEVU R B )

2.tk

<Rig 5174

4.3 AR

1.A4VSO0 type axial piston pump

2.Proportional valve
3. Position sensor

4 Transition board

gmax

A

7. B35 %H EM Motor Control EM

RAHEITHRHAERT . FAIRENEFES, HRTRERNBREFXMAGHETHERNTEET,
Stepless adjustment of displacement via an electric motor. Various intermediate displacement values can be selected
with a programmed sequence control, by means of built on limit switches and an optional potentiometer for feedback signal.

BB Mo A
| 3 2 y
e e . , ' d
AT W Viem

lerI"::Is K K: E;?R{L}
4
B
S
EM REESchematic S

E 4 Diagram components
1. OS-A4VSOH M EHER ( FEMMHEEESHE ) Axial piston pu imp (with mechanical positioning device)
2. ¥l Motor

3. BR{rFH 3% Limit switch
4. B {r2E Potentiometer




ifi 538 %h Through Drive

OS-A4VSOR M ER R OUE MR, TROEHRESHRXNF2-30 “WSHIR"

BMNEFEHRENZZATRK=F ( ERXRSENR#=R ),
0S-A4VSO axial piston pump can be equipped with a through drive, as shown in the type code on page 2-3

Wae recommend that no more than three pumps be coupled together(main pump and following pump a total of thrase).

AN 5 B R IR & 5E Permissible input torque and through drive torque { BrUnit: Nm)

4 Size 40 | 71 | 125 [180/2001250/280| 365

1 §i4h{h Splined Shaft
FFEOBAWNEEE Maximum input torque of the main pump Tiotmax | 446 | 790 | 1392 | 2004 | 2782 | 3952
Tome | 223 | 395 | 696 | 1002 | 1391 | 1976
AER AVFRYiEHEsNEE Permissible through drive torque T | 223 | 395 | 696 | 1002 | 1391 | 1976
_ Tamex | 223 | 395 | 696 | 1002 [ 1391 | 1976
BEISR, 5t 1Al IR Zh¥E 5E Permissible through drive torque | 223395 | 696 | 1002| 1391 | 1976

@ Keyed shaft

EREBANIEIE Maximum input torque of the main pump Tiotmex | 380 | 700 | 1392 | 1400 | 2300 | 3557
Towmax | 223 | 395 | 696 | 1002 | 1391 | 1976
AR AWREMESEIE Permissible through drive torque i ] 157 005 800 | 39 o0 | <83
BEIZ. £ 40 E B B 4E Permissible through drive torque Towe | 157 (5091 €90 | 500 Rl | 1301
Tozmax | 223 | 385 | 686 | 1002 | 1391 | 1976

#5454y Bl 23X, Torque Distribution Pattern
4+ B XA Distribution pattern A S B Distribution pattern B

; “
To1 Taz

FRLEEZEZ Y1 AT 4E Permissible mass moment of inertia referred to the mounting flange of the main pump

{—iﬂjﬁﬁ; MiESize| 40 | 71 | 125 [180/200|250/280| 355

Thot

To1 Taz

— || L T 1800 | 2000 4200 9300
K.. 20M1R Wl | k m2, || =
_ | J_ Tm1og 180 200 420 930
| T.;‘-r_;;..t.:,..__ —
J_: ‘ }_J ) m 39 53 88 102 184 207
11 | h 120 140 170 | 180 | 210 | 220
12
Tr—¥F FHFENmM Tm—Perm. mass moment of inertia (Nm)
Temtog—10gimZE BB AIF A T ENm Tmiog—Perm. mass moment at dynam acceleration of 10g (Nm)
m1-ER A RKg mi—The quality of the main pump (kg)
m2- MR kg me—The quality of the following pump (kg)
h-FRBE DS REE=RIZERmMm 1-The distance between barycentsr of main pump and mounting flange (mm)
M REODSTRBEELZHE®EmMM l=—The distance between barycenter of following pump and mounting flange of

i
ﬁET-imxthé#mleaxTa?:Tm [ puree. ()




i 538 5) Through Drive

# &% R~} Combination Pump Dimensions

MEFEHOS-A4VSOE I R ~FH(mm)
Dimensions of following pumps OS-A4VS0

0S-A4VSO + 0S-A4VSO ==
Mk L 40 | 71 | 125 [180/200|250/280| 355
40 554 | 582 | 835 | 659 | 719 | 748
i 71 - | 611 | 664 | 688 | 748 | 777
: k_c}s-mvsm | :_*’f : E A |12 = - | 724 | 748 | 808 | 837
(E3R) .- Ra 180 = = = 768 857
| R 350 | = | = | =_JsZ=\|#00d 933
B T e g
" A2 N ° 355 - - - - - | 962
Al <180 | 288 | 316 | 369 | 393 | 453 | 482
o =250 | - = = - | 469 | 498
MEAHOS-A10VSOBR X OS-A10VOE B R F(mm)
Dimensions of following pumps OS-A10VQOand OS-A10VSO
0S-A4VSO  +  OS-A10VSO ER
» - Main pump 40 | 71 | 125 |180/200|250/280| 355
Y .
I 18 | 458 | 486 | 564 | 588 | 648 | 677
T 1
_ 5 = 28 | 496 | 497 | 575 | 599 | 659 | 688
45 | 514 | 540 | 583 | 617 | 677 | 706
[ _H. _0S-A4VSO__ {_ =1 _llos-a10vso| . g A
(£%) L (AF) M 3 71 | - | s80 852 | 712 | 741
| ‘ | J—“‘ - R 100 | - _ | es8 | 722 | 782 | 801
| = p:' 3 o e = — | 744 | 791
| i Az 288 | 316 | 369 | 383 | 453 | 482

FROS- A4VSO 1805 A FR0OS- A10VSO 14080S- AT0VO 1402 EE, RA2
A406,

The dimension A2 ia 408 for that OS-A4VSO180 pump couples
OS-A10VS0 140 or OS-A10V0 140 pump




R 3% Mounting

& —i =k General requirements

REMBEE, BT, RESTESEME, HETERRETHR,

ATELOBRE, FTANEREREE ( 3HhE. EmERSathE ) ®ARETHShiERES

A REREHEHEE LR AR, HRhEERERRE, EAERASRN

The mounting position is discretionary. Before trial running, the pump body must befilled with fiuid and kept filled
while working.

To reduce noise, all connecting pipes (inlet pipe, pressure pipe and casting drain pipe) must be separated from
the tankby using flexible components. Avoid mounting check valve on the casting drain pipe. The leaked oil shall
retum directly to the tank, butthe through-flow section shall not be reduced.

S EFHLYE (#im ) Vertical mounting (with shaft end upward)

EEEZREN, HEFERARMAEDEETE, DBARIRRARER,
In case of vertical mounting, we recommend flushing bearings as mentioned above toensure the lubrication of

the front bearings.

224t 75 W # A Mounting inside the tank

a) ¥mANREEADSRAZE=ASHKERN, (RL) O, (T)

O {S) ORIFm(AE1).

When the minimum level inthe tankis assame as orlarger than the

height of the flange face ofthe pump, port R/L, T and S can be open B
(see Figure 1)

b ) MEAMREAEETFRIEZ®E, (RL) O, (T) OREK#E

3% {S) NHMAFEERE, NE2AT, KRASET (RR7EH

50 ) RETRRAEE.
When the minimum level inthe tankis lowerthan the flange face of

the pump, port R/L, T and possible port S must be connected with 1
pipes, as shownin Figure 2.This situation is same as what is
specified in Mounting outside of the Tank in this section.

Z 47l # SpMounting outside the tank

ERERW, FKFEREHEWRE, (T) DilRE, (RL) O,
ERERORM: M (RL)Y O, i3 (T) EX, K58
{R/L) OEZE (RE2) , H
Before mounting, the pump shall be placed horizontally and filled -

with fluid. Port T is connected with the tank and port R/L shall be ?

blocked. Filing while mounting: Filling from port R/L and venting by | R(L)

port Tand then blocking port R/L st @ T
& RNREHDOES (BAES) , SHAAMETF0.8 bar BXE b0V ] [ Fas

Ho MBERERAETHEBENGRETHEZL, hmﬂm} =t- ii) et
Conditions: The minimum inlet pressure ( absorption pressure ) of the 1 J
pump shallnot be lower than 0.8 bar, the absolute pressure. If low

b 71 &b

noise running is required, the pump shall not be placed on the tank. =2




¢ Eb & Horizontally placed

#AT), (K1), (K2) H(RL) NEFESHUE, AFREESHATSMHnEER,
Place port T, K1, K2 or R/L higherthan the highest position for filling /venting and for connecting with drain pipe.

F il AMounting inside the tank

a) YHANREADSRNY LRERNES, #HlmDOfM (S) O
A (RE3) . RIL

When the minimum level in the tank is as same as or higher than {_ED:]
the upper end of the drain port and port S can be open (see Figure ]

3) F._u.._.__:é; D-ta-
b) LA RS LR EWIER, O R ATREER (S) ~iw[}
OAMAEEER (LE4) . IFRMBAT (REEHASNET)

Ha)Ti ATt
When the minimum level in the tank is lower than the upper end of &3
the pump, the drain portand possible port S mustbe connected

with pipes. { See Figure 4 ) .This situation is same as what is

specified in a) Mounting outside of the Tank in this section.

RIS TR B A v i R 3R o
Before trial running, the pump body must be filled with fluid

R/L

hmax=800

FERETIAMEESERE,

Before trial running, the pump body must be filled with fluid.
a) MBREEMBZ L, WLEA, e
For mounting on the tank, see Figure 4.

& ZAREHEDOED (BANEH ) , BDAPKT0.8barixfE
. MERERERSFEITUMBEERE T HEZ L,
Conditions: The minimum inlet pressure (absorption pressure) of
the pump shall not be lower than 0.8 bar, the absolute pressure. If L

= a o |
|
23 75 28 4b Mounting outside the tank / | himn=200
|
|

I

]
—

low noise running is required, the pump shall not be placed on the
tank.

b) MRFEEMMAZT, (RLY# (S) DAEEEEE, WESH
ﬁ%a

For mounting under the tank, port R/L and S must be connected
with pipes, as shown in Figure 5.




	启东联谊机械_页面_004
	启东联谊机械_页面_005
	启东联谊机械_页面_006
	启东联谊机械_页面_007
	启东联谊机械_页面_008
	启东联谊机械_页面_009
	启东联谊机械_页面_010
	启东联谊机械_页面_011
	启东联谊机械_页面_012
	启东联谊机械_页面_013
	启东联谊机械_页面_014
	启东联谊机械_页面_015
	启东联谊机械_页面_016
	启东联谊机械_页面_017
	启东联谊机械_页面_018
	启东联谊机械_页面_019
	启东联谊机械_页面_020
	启东联谊机械_页面_021
	启东联谊机械_页面_022
	启东联谊机械_页面_023

